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DIGITAL SIGNAL PROCESSING
(Common to ECE, EIE)
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Define decimation and interpolation.
State linear and static system with example.
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2 a) If y(n) = 12x(r.r-l) + I 1x(n-2), Find whether given system is time variant or not?

b) Find the frequency response of l" order system y(n) = x(n) + ay(n-1). [5+5]
OR

3.a) y(n)-3y(n- l) - 4y(n-2) = 0 determine zero-input response of the system; Given

i",1"'y(-2) =0 an.d'y(-'l ) =5. :":i"": "'::'.: : :: ,

b): r';lobta'n the dls6lde and paraiii:t;form realization for the systep,: : 
]'.

),(.n): -0.1 y(n -1) + 0.2 y(n - 2) + 3x(n) + 3.6x(n *1) + 0.6 x(n - 2).

4. Expiain all properties of DTF'T.
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filter using' 6iihear ransfofrirdtion
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questibn paper contains'ti*7o'parts A and'8,' , .')','.. i.'.'.,i'..

Part A is compulsory which car-ries 25 marks. Answer all questions in Part A. Part B
consists of 5 Units. Answer any one full question from each unit. Each question carries
10 marks and may have a, b, c as sub questions.
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5.{).: i.,.Explain Ra{.!xi},Decimatio{i}r!;[ime F'FT algQrltlun with exffip[Q.; 
i.'"";i'.".'.,

b)''"FindtheDFif of'asequence"x(n): {1,1,0,0} imdfindthelDFl'bf Y(k)={1,0,I;0}'.[5+5]
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'Realize the .System function .:"i +..t + -- 7. bl,firrear phase FIR stiucture.

OR
9. E,xplain the designing of FIR filters using windou's.

11.a) Explain the applications of Multi rate signal processing.
b) What is rrcant by signal scaling? Explain.

10. With respect to finite r,vord length eff'ects in digital filters, explain over flow limit cycle
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